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SHELVEAN KAPITA

1. Express f(t) in terms of the unit step function u.(¢) and find it’s Laplace transform
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(b)

3, 0<t<2,
f(t) =14 2t 2<t<4,

3sin(t —4), t> 4.
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2. Find the inverse Laplace transform of
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3. Solve

(a) ¥ +y=3sin(t) - 6(t —7/2), y(0) =0, ¢'(0) =—1.

Fiy'vyy = Lipento Bl
Sléﬁ%;}‘l - s lo)- 3(‘0) + 9';{1&5 = 3:—15

L A
iigk (S‘I'\B = 30" \
- -1
i{“aB: 3o | _ 5e?—6 )
2y | Sy
43(:@ = 31%(&) sun (£ -—1;_)~ g (X)
2
OR
o = - 3y ) con (€)= & L)
- n

Copyright © 2024 TAMU Math Learning Center Math 308 WIR 8: Page 4 of 8



TEXAS A&M UNIVERSITY
"‘FW Math Learning Center Math 308 - Spring 2024
) WEEK-IN-REVIEW

1, 0<t<l,
(b) ¥ + 4y = f(t), y(0) =4 (0) =0 where f(t) =< -1, 1<t<2,
0, t>2.
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4. Let f(t) = et and g(t) = sin(t). Compute (f *g)(t) and (g* f)(t). Verify the Convolution Theorem
for these functions.
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e sin(x) dx

¢
5. (a) Find the Laplace transform of h(t) = /
0
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(b) Find the inverse Laplace transform using the Convolution Theorem
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6. Use Laplace transforms to solve the integro-differential equation
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